MAT 135, Discussion Questions 1.27

1. Describe how to calculate a class for quantitative data.
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a. Use the data set on the age of presidents at inauguration and divide the data in 5 classes.
Hint: You will find it helpful to sort the data first. (Use your calculator!)

President AGE (in years) | President AGE (in years)
George Washington 57.1836 Benjamin Harrison 55.5370
John Adams 61.3425 Grover Clevelani 55.9562
Thomas lefferspn 57.8904 William McKinIei 54.0932
James Madison 58.9671 Theodore Roose}elt 42.8822
James Monroe 58.8493 William Howardﬁ'aft 51.4658
John Quincy Adams 57.6466 Woodrow Wilsol 56.1808
Andrew Jackson 61.9699 Warren G. Harding 55.3342
Martin Van Buren 54,2438 Calvin Coolidge 51.0795
William Henry 68.0630 Herbert Hoover | 54.5644
Harrison ‘

John Tyler 51.0164 Franklin D. Roosevelt 51.0904
James K. Polk 49.3342 Harry S. Truman] 60.9288
Zachary Taylor 64.2740 Dwight D. Eisenhower | 62.2685
Millard Fillmore 50.5014 John F. Kennedy i 43.6466
Frankiin Pierce 48.2767 Lyndon B. Johnsen | 55.2384
Jarmes Buchanan 65.8630 Richard Nixon 56.0301
Abraham Lincoin 52.0548 Gerald Ford 61.0712
Andrew Johnson 56.2932 Jimmy Carter 52.3041
Ulysses S. Grant 46.8521 . Ronald Reagan | 69.9479
Rutherford B. Hayes 54.4137 George H. W. Bush | 64.6082
James A. Garfield 49.2877 Bill Clinton | 46.4219
Chester A. Arthur 51.9562 | George W. Bush | 54.5425
Grover Cleveland 47.9616 | Barack Obama 47.4630

b. Find the midpoint of each class.
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2. How do histograms differ from bar charts?
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3. For each of the graphs below comment on what type of graphit is (bar, Pareto, histogram), and
whether it is good, bad, misused or misleading.
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4. How can we use bar graphs to compare data? Why do we hare to do the comparison differently
for histograms ar|1d stemplots?
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5. What are the steps in creating a stemplot? Take a problem from the textbook (2.1 #31-45) and
use the stemplot grapher at http://www.calculatorsoup.com/talculators/statistics/stemleaf.php
to create a stemplot for the data. In what way are stemplots better than histograms?
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